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- [Evaluating Composition of Two Functions] w2
A) Iffix)=7, glx) =-9x and A(x) = x(x - 3) - 4, evaluate the following.
1 5
v (g(-s) 2 /(h(3)
B) If g(x)=3x" flx)=%4x+1 and h(x)= 8_1 21 , evaluate the following.
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Q) IfAx)=5 and g(x) =fcollection of worksheets in all subjects!
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D) 1) If flx) = 6log x and rix)=¢, wnicn or tne jonowing represemsf(h(%))?
i) 12 i) 9 i) 2 iv) 3
2) If g(x) =17 and flx) = 5x° - 3x*, which of the following represents (g of)(—%)?
i) 17 i) 13 i) -17 iv) 11
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- LEvaluating Composition of Two Functions]

A) Iffix)=7, glx) =-9x and A(x) = x(x - 3) - 4, evaluate the following.

v Hels) 2 /(3)

-6 7

B) If g(x)=3x" flx)=%4x+1 and h(x)= —12_ evaluate the following.

8x -1
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=€ ,winicn ol ue 1onowinyg represemsf(h(l))?

D) 1) If fix) =6log x and nx) 3

12 i 9 @y 2 iv) 3

2) If g(x) =17 and flx) = 5x° - 3x*, which of the following represents (g of)(—%)?

Ny 17 i) 13 i) _17 iv) 11
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